

ON SOME NEW CONTINUED FRACTION EXPANSIONS FOR THE RATIOS OF THE FUNCTION $\rho(a, b)$

THULASI.M.B.¹ *

ABSTRACT. We obtain some new continued fraction expansions of the ratios $\rho(aq, bq)/\rho(a, bq)$ and $\rho(aq, bq)/\rho(aq, b)$. We deduce therefrom some special cases of these continued fractions which are analogous to the continued fractions of Ramanujan.

1. INTRODUCTION

Ramanujan has defined the function $\rho(a, b)$ in his lost notebook [22] as

$$\rho(a, b) := \left(1 + \frac{1}{b}\right) \sum_{n=0}^{\infty} \frac{(-1)^n q^{n(n+1)/2} a^n b^{-n}}{(-aq)_n}, \quad (1.1)$$

where a, b are complex numbers other than 0 and $-q^{-n}$ and

$$(a)_n = \prod_{k=0}^{n-1} (1 - aq^k), n = 1, 2, 3, \dots, |q| < 1. \quad (1.2)$$

Ramanujan, a pioneer in the theory of continued fractions has recorded scores of continued fraction identities in chapter 12 of his second notebook [21] and in his lost notebook [22]. This part of Ramanujan's work has been studied and developed by several authors including Carlitz [12], Gordon [16], Hirschhorn [17], Andrews [4], Al-Salam and Ismail [3], Ramanathan [19, 20], Denis [13, 14, 15], Bhargava and Adiga [8, 9], Bhargava, Adiga and Somashekara [10, 11], Verma, Denis and Srinivasa Rao [28], Singh [23], Bhagirathi [5, 6, 7], Adiga and Somashekara [2], Vasuki [26], Adiga, Denis and Vasuki [1], Vasuki and Madhusudan [27], Somashekara and Fathima [24], Mamta and Somashekara [18], Somashekara, Shalini and Narasimha Murthy [25].

The main purpose of this paper is to establish new continued fraction expansions for the ratios: $\rho(aq, bq)/\rho(a, bq)$ and $\rho(aq, bq)/\rho(aq, b)$, which complement the work of Somashekara, Shalini and Narasimha Murthy [25].

Date: Received: Sep 4, 2022; Accepted: Nov 9, 2022.

* Corresponding author.

2020 *Mathematics Subject Classification.* Primary 11A55, 33D15.

Key words and phrases. Basic hypergeometric series, reciprocity theorem, q -continued fraction.

In section 2, we state some key functional relations satisfied by $\rho(a, b)$ which will be used in the proof of our main results. In section 3, we prove our main results and in section 4 we obtain some special cases of our continued fractions which are analogous to the continued fractions of Ramanujan.

2. PRELIMINARY RESULTS

In this section we give some functional relations of $\rho(a, b)$.

Lemma 2.1. *We have*

$$(1 + aq) \frac{\rho(a, b)}{(1 + \frac{1}{b})} = aq \frac{\rho(aq, b)}{(1 + \frac{1}{b})} + \frac{\rho(aq, bq)}{(1 + \frac{1}{bq})}, \quad (2.1)$$

$$(1 + aq) \frac{\rho(a, bq)}{(1 + \frac{1}{bq})} - (1 + aq) \frac{\rho(a, b)}{(1 + \frac{1}{b})} = \frac{aq}{b} \frac{\rho(aq, b)}{(1 + \frac{1}{b})} - \frac{a}{b} \frac{\rho(aq, bq)}{(1 + \frac{1}{bq})}, \quad (2.2)$$

$$(1 + aq) \frac{\rho(a, bq)}{(1 + \frac{1}{bq})} = aq \frac{\rho(aq, bq)}{(1 + \frac{1}{bq})} + \frac{\rho(aq, bq^2)}{(1 + \frac{1}{bq^2})}, \quad (2.3)$$

$$\rho(a, b) = \frac{\rho(a, bq)}{(1 + \frac{1}{bq})} + \frac{a(1 + \frac{1}{b})}{(1 + aq)(1 + \frac{1}{bq})} \rho(aq, bq), \quad (2.4)$$

$$\rho(aq, b) = \frac{\rho(aq, bq)}{(1 + \frac{1}{bq})} + \frac{aq(1 + \frac{1}{b})}{(1 + aq^2)(1 + \frac{1}{bq})} \rho(aq^2, bq). \quad (2.5)$$

Proof. For proofs of (2.1) - (2.3), see [25]. Substituting (2.1) in (2.2) we obtain (2.4) and changing a to aq in (2.4) we get (2.5). $\square$

3. MAIN RESULTS

In this section we deduce the continued fraction expansions for the ratios $\rho(aq, bq)/\rho(a, bq)$ and $\rho(aq, bq)/\rho(aq, b)$.

Theorem 3.1. *We have*

$$\frac{\rho(aq, bq)}{\rho(a, bq)} = \frac{1 + aq}{A_1 +} \frac{B_1}{1 +} \frac{C_1}{A_2 +} \frac{B_2}{1 +} \frac{C_2}{A_3 +} \cdots \frac{C_{n-1}}{A_n +} \frac{B_n}{1 +} \cdots, \quad (3.1)$$

where

$$A_n = aq^n, \quad B_n = (1 + \frac{1}{bq^n})$$

and

$$C_n = aq^n(1 + \frac{1}{bq^n}), \quad n = 1, 2, 3, \dots$$

Proof. Changing a to aq^n and b to bq^n in (2.3), we obtain

$$\rho(aq^n, bq^{n+1}) = \frac{aq^{n+1}}{(1 + aq^{n+1})} \rho(aq^{n+1}, bq^{n+1}) + \frac{(1 + \frac{1}{bq^{n+1}})}{(1 + aq^{n+1})(1 + \frac{1}{bq^{n+2}})} \rho(aq^{n+1}, bq^{n+2}). \quad (3.2)$$

Changing a to aq^n and b to bq^n in (2.4), we obtain

$$\rho(aq^n, bq^n) = \frac{\rho(aq^n, bq^{n+1})}{(1 + \frac{1}{bq^{n+1}})} + \frac{aq^n(1 + \frac{1}{bq^n})}{(1 + aq^{n+1})(1 + \frac{1}{bq^{n+1}})} \rho(aq^{n+1}, bq^{n+1}). \quad (3.3)$$

(3.2) and (3.3) can be written as

$$S_n \equiv \frac{\rho(aq^n, bq^{n+1})}{\rho(aq^{n+1}, bq^{n+1})} = \frac{aq^{n+1}}{(1 + aq^{n+1})} + \frac{(1 + \frac{1}{bq^{n+1}})}{(1 + aq^{n+1})(1 + \frac{1}{bq^{n+2}})} \frac{1}{T_{n+1}}, \quad (3.4)$$

$$T_n \equiv \frac{\rho(aq^n, bq^n)}{\rho(aq^n, bq^{n+1})} = \frac{1}{(1 + \frac{1}{bq^{n+1}})} + \frac{aq^n(1 + \frac{1}{bq^n})}{(1 + aq^{n+1})(1 + \frac{1}{bq^{n+1}})} \frac{1}{S_n}. \quad (3.5)$$

Iterating (3.4) and (3.5) with $n = 0, 1, 2, \dots$ and then taking reciprocals we obtain (3.1) after some simplifications. $\square$

Theorem 3.2. *We have*

$$\frac{\rho(aq, bq)}{\rho(aq, b)} = \frac{B_0}{1+} \frac{D_0}{A_1+} \frac{B_1}{1+} \frac{D_1}{A_2+} \frac{B_2}{1+} \frac{D_2}{A_3} \frac{B_3}{1+\dots} \frac{D_{n-1}}{A_n+} \frac{B_n}{1+\dots}, \quad (3.6)$$

where

$$A_n = aq^n, \quad B_n = (1 + \frac{1}{bq^n})$$

and

$$D_n = aq^{n+1}(1 + \frac{1}{bq^n}), \quad n = 0, 1, 2, \dots$$

Proof. Changing a to aq^n and b to bq^n in (2.5), we obtain

$$\rho(aq^{n+1}, bq^n) = \frac{\rho(aq^{n+1}, bq^{n+1})}{(1 + \frac{1}{bq^{n+1}})} + \frac{aq^{n+1}(1 + \frac{1}{bq^n})}{(1 + aq^{n+2})(1 + \frac{1}{bq^{n+1}})} \rho(aq^{n+2}, bq^{n+1}). \quad (3.7)$$

Changing a to aq^n and b to bq^n in (2.1), we obtain

$$\rho(aq^n, bq^n) = \frac{aq^n}{(1 + aq^{n+1})} \rho(aq^{n+1}, bq^n) + \frac{(1 + \frac{1}{bq^n})}{(1 + aq^{n+1})(1 + \frac{1}{bq^{n+1}})} \rho(aq^{n+1}, bq^{n+1}). \quad (3.8)$$

(3.7) and (3.8) can be written as

$$U_n \equiv \frac{\rho(aq^{n+1}, bq^n)}{\rho(aq^{n+1}, bq^{n+1})} = \frac{1}{(1 + \frac{1}{bq^{n+1}})} + \frac{aq^{n+1}(1 + \frac{1}{bq^n})}{(1 + aq^{n+2})(1 + \frac{1}{bq^{n+1}})} \frac{1}{V_{n+1}}, \quad (3.9)$$

$$V_n \equiv \frac{\rho(aq^n, bq^n)}{\rho(aq^{n+1}, bq^n)} = \frac{aq^n}{(1 + aq^{n+1})} + \frac{(1 + \frac{1}{bq^n})}{(1 + aq^{n+1})(1 + \frac{1}{bq^{n+1}})} \frac{1}{U_n}. \quad (3.10)$$

Iterating (3.9) and (3.10) with $n = 0, 1, 2, \dots$ and then taking reciprocals we obtain (3.6) after some simplifications. $\square$

4. SPECIAL CASES

In this section we extract the following special cases of (3.1) and (3.6).

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{(-q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n-1)}{2}}}{(-q)_n}} = \frac{1+q}{q+} \frac{(1+1/q)}{1+} \frac{q(1+1/q)}{q^2+} \frac{(1+1/q^2)}{1+\dots}, \quad (4.1)$$

$$\frac{\sum_{n=0}^{\infty} \frac{q^{\frac{n(n+1)}{2}}}{(-q^2)_n}}{\sum_{n=0}^{\infty} \frac{q^{\frac{n(n-1)}{2}}}{(-q)_n}} = \frac{1+q}{q+} \frac{(1-1/q)}{1+} \frac{q(1-1/q)}{q^2+} \frac{(1-1/q^2)}{1+\dots}, \quad (4.2)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+3)}{2}}}{(-q^3)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{(-q^2)_n}} = \frac{1+q^2}{q^2+} \frac{(1+1/q)}{1+} \frac{q^2(1+1/q)}{q^3+} \frac{(1+1/q^2)}{1+\dots}, \quad (4.3)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n-1)}{2}}}{(-q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n-3)}{2}}}{(-q)_n}} = \frac{1+q}{q+} \frac{(1+1/q^2)}{1+} \frac{q(1+1/q^2)}{q^2+} \frac{(1+1/q^3)}{1+\dots}, \quad (4.4)$$

$$\frac{\sum_{n=0}^{\infty} \frac{q^{\frac{n(n+3)}{2}}}{(-q^3)_n}}{\sum_{n=0}^{\infty} \frac{q^{\frac{n(n+1)}{2}}}{(-q^2)_n}} = \frac{1+q^2}{q^2+} \frac{(1-1/q)}{1+} \frac{q^2(1-1/q)}{q^3+} \frac{(1-1/q^2)}{1+\dots}, \quad (4.5)$$

$$\frac{\sum_{n=0}^{\infty} \frac{q^{\frac{n(n-1)}{2}}}{(-q^2)_n}}{\sum_{n=0}^{\infty} \frac{q^{\frac{n(n-3)}{2}}}{(-q)_n}} = \frac{1+q}{q+} \frac{(1-1/q^2)}{1+} \frac{q(1-1/q^2)}{q^2+} \frac{(1-1/q^3)}{1+\dots}, \quad (4.6)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+3)}{2}}}{(-q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{(-q)_n}} = \frac{1+q}{q+} \frac{2}{1+} \frac{2q}{q^2+} \frac{(1+1/q)}{1+} \frac{q^2(1+1/q)}{q^3+\dots}, \quad (4.7)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n-1)}{2}}}{(-q)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n-3)}{2}}}{(-1)_n}} = \frac{2}{1+} \frac{(1+1/q)}{1+} \frac{1+1/q}{q+} \frac{(1+1/q^2)}{1+} \frac{q(1+1/q^2)}{q^2+\dots}, \quad (4.8)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{(-q)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n-1)}{2}}}{(-1)_n}} = \frac{2}{1+} \frac{2}{1+} \frac{2}{q+} \frac{(1+1/q)}{1+} \frac{q(1+1/q)}{q^2+\dots}, \quad (4.9)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{(-q^3)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n-1)}{2}}}{(-q^2)_n}} = \frac{1+q^2}{q^2+} \frac{(1+1/q^2)}{1+} \frac{q^2(1+1/q^2)}{q^3+} \frac{(1+1/q^3)}{1+\dots}, \quad (4.10)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n-1)}{2}}}{(-q^3)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n-3)}{2}}}{(-q^2)_n}} = \frac{1+q^2}{q^2+} \frac{(1+1/q^3)}{1+} \frac{q^2(1+1/q^3)}{q^3+} \frac{(1+1/q^4)}{1+\dots}, \quad (4.11)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+3)}{2}}}{(-q^4)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{(-q^3)_n}} = \frac{1+q^3}{q^3+} \frac{(1+1/q^2)}{1+} \frac{q^3(1+1/q^2)}{q^4+} \frac{(1+1/q^3)}{1+\dots}, \quad (4.12)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{(-q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+3)}{2}}}{(-q^2)_n}} = \frac{2}{1+} \frac{2q}{q+} \frac{(1+1/q)}{1+} \frac{q^2(1+1/q)}{q^2+\dots}, \quad (4.13)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+3)}{2}}}{(-q^3)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+5)}{2}}}{(-q^3)_n}} = \frac{2}{1+} \frac{2q^2}{q^2+} \frac{(1+1/q)}{1+} \frac{q^3(1+1/q)}{q^3+\dots}, \quad (4.14)$$

$$\frac{\sum_{n=0}^{\infty} \frac{q^{\frac{n(n+1)}{2}}}{(q^2)_n}}{\sum_{n=0}^{\infty} \frac{q^{\frac{n(n+3)}{2}}}{(q^2)_n}} = \frac{2}{1+} \frac{-2q}{-q+} \frac{(1+1/q)}{1+} \frac{-q^2(1+1/q)}{-q^2+\dots}, \quad (4.15)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n-1)}{2}}}{(-q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{(-q^2)_n}} = \frac{1+1/q}{1+} \frac{q(1+1/q)}{q+} \frac{(1+1/q^2)}{1+} \frac{q^2(1+1/q^2)}{q^2+\dots}, \quad (4.16)$$

$$\frac{\sum_{n=0}^{\infty} \frac{q^{\frac{n(n-1)}{2}}}{(q^2)_n}}{\sum_{n=0}^{\infty} \frac{q^{\frac{n(n+1)}{2}}}{(q^2)_n}} = \frac{1+1/q}{1+} \frac{-q(1+1/q)}{-q+} \frac{(1+1/q^2)}{1+} \frac{-q^2(1+1/q^2)}{-q^2+\dots}, \quad (4.17)$$

$$\frac{\sum_{n=0}^{\infty} \frac{q^{\frac{n(n-1)}{2}}}{(-q^2)_n}}{\sum_{n=0}^{\infty} \frac{q^{\frac{n(n+1)}{2}}}{(-q^2)_n}} = \frac{1-1/q}{1+} \frac{q(1-1/q)}{q+} \frac{(1-1/q^2)}{1+} \frac{q^2(1-1/q^2)}{q^2+\dots}, \quad (4.18)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n-1)}{2}}}{(q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{(q^2)_n}} = \frac{1-1/q}{1+} \frac{-q(1-1/q)}{-q+} \frac{(1-1/q^2)}{1+} \frac{-q^2(1-1/q^2)}{-q^2+\dots}, \quad (4.19)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{(-q^3)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+3)}{2}}}{(-q^3)_n}} = \frac{1+1/q}{1+} \frac{q^2(1+1/q)}{q^2+} \frac{(1+1/q^2)}{1+} \frac{q^3(1+1/q^2)}{q^3+\dots}, \quad (4.20)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n-1)}{2}}}{(-q^3)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{(-q^3)_n}} = \frac{1+1/q^2}{1+} \frac{q^2(1+1/q^2)}{q^2+} \frac{(1+1/q^3)}{1+} \frac{q^3(1+1/q^3)}{q^3+\dots}, \quad (4.21)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n-1)}{2}}}{(-q)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{(-q)_n}} = \frac{2}{1+} \frac{1}{1+} \frac{(1+1/q)}{1+} \frac{q(1+1/q)}{q+} \frac{(1+1/q^2)}{1+\dots}, \quad (4.22)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+3)}{2}}}{(-q^2)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+5)}{2}}}{(-q^2)_n}} = \frac{1+q}{1+} \frac{q(1+1/q)}{q+} \frac{2}{1+} \frac{2q^2}{q^2+\dots}, \quad (4.23)$$

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{(-q)_n}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n+3)}{2}}}{(-q)_n}} = \frac{1+q}{1+} \frac{(1+q)}{1+} \frac{2}{1+} \frac{2q}{q+} \frac{1+1/q}{1+\dots}. \quad (4.24)$$

Proof. Setting $a = 1, b = 1$ in (3.1) and (3.6) and using the definition (1.1) we obtain (4.1) and (4.13) after some simplifications.

Substituting $a = 1, b = -1$; $a = q, b = -1$ and $a = q^2, b = q$ in (3.1) and using (1.1) we obtain (4.2), (4.5) and (4.12) respectively.

Substituting $a = q, b = 1$; $a = 1, b = q$ and $a = 1, b = -q$ in (3.1) and using (1.1) we obtain (4.3), (4.4) and (4.6) after some simplification respectively. Similarly we obtain (4.7) - (4.11) from (3.1) by substituting $a = 1, b = 1/q$; $a = 1/q, b = 1$; $a = 1/q = b$; $a = q = b$ and $a = q, b = q^2$ respectively.

Substituting $a = q, b = 1$; $a = -1, b = 1$; $a = 1, b = q$ and $a = -1, b = q$ in (3.6) and using the definition (1.1) we obtain (4.14) - (4.17) respectively. Similarly (4.18) - (4.24) are obtained by substituting $a = 1, b = -q$; $a = -1, b = -q$; $a = q = b$; $a = q, b = q^2$; $a = 1/q, b = 1$; $a = 1, b = 1/q$ and $a = 1/q = b$ respectively. $\square$

Acknowledgement. The author would like to thank Prof.D.D.Somashekara, Department of Mathematics, University of Mysore for his guidance and sustaining encouragement.

REFERENCES

1. C. Adiga, R. Y. Denis, and K. R. Vasuki, *On some continued fraction expansions for the ratios of ${}_2\psi_2$* , Special Functions: Selected Articles, P.K. Banerji, 2001.
2. C. Adiga and D. D. Somashekara, *On some Rogers-Ramanujan type continued fraction identities*, Mathematical Balkanica, New Series, **12**(1-2) (1998), 37–45.
3. W. Al-Salam and M. Ismail, *Orthogonal polynomials associated with the Rogers- Ramanujan continued fraction*, Pacific J. Math., **104**(2) (1983), 269–283.
4. G. E. Andrews, *Ramunujan's "Lost" Notebook III. The Rogers-Ramanujan continued fraction*, Adv. Math., **41**(2) (1981), 186–208.
5. N. A. Bhagirathi, *On basic bilateral hypergeometric series and continued fractions*, Math. Student, **56** (1988), 135–141.
6. N. A. Bhagirathi, *On certain continued fractions and q -series*, Math. Student, **56**(1- 4) (1988), 97–104.
7. N. A. Bhagirathi, *On certain investigations in q -series and continued fractions*, Math. Student, **56**(1-4) (1988), 158–170.
8. S. Bhargava and C. Adiga, *On some continued fraction identities of Srinivasa Ramanujan*, Proc. Am. Math. Soc., **92**(1) (1984), 13–18.
9. S. Bhargava and C. Adiga, *Two generalizations of Ramanujan's continued fraction identities* In K.Alladi (Ed). Number Theory, Springer Berlin Heidelberg, **1122** (1985) 56–62.
10. S. Bhargava, C. Adiga, and D. D. Somashekara, *On certain continued fractions related to ${}_3\phi_2$ basic hypergeometric functions*, J. Math. Phy. Sci, **21** (1987), 613–629.
11. S. Bhargava, C. Adiga, and D. D. Somashekara, *On some generalizations of Ramanujan's continued fraction identities*, Proc. Indian Acad. Sci.: Math. Sci., **97**(1) (1987), 31–43.

12. L. Carlitz, *Note on some continued fractions of the Rogers-Ramanujan type*, Duke Math. J., **32**(4) (1965), 713–720.
13. R. Y. Denis, *On certain q -series and continued fractions*, Math. Student, **44** (1983), 70–76.
14. R. Y. Denis, *On basic hypergeometric functions and continued fractions*, Math. Student, **52**(1-4) (1984), 129–136.
15. R. Y. Denis, *On certain q -series and continued fraction identities*, Math. Student, **53** (1985), 243–248.
16. B. Gordon, *Some continued fractions of the Rogers-Ramanujan type*, Duke Math. J., **32**(4) (1965), 741–748.
17. M. D. Hirschhorn, *A continued fraction of Ramanujan*, J. Aust. Math. Soc., **29**(1) (1980), 80–86.
18. D. Mamta and D. D. Somashekara, *On some continued fraction expansions for the ratios of ${}_2\psi_2$* , Far East J. Math. Sci., **23**(1) (2006), 65–80.
19. K. G. Ramanathan, *On Ramanujan's continued fraction*, Acta Arith., **43** (1984), 209–226.
20. K. G. Ramanathan, *On the Rogers-Ramanujan continued fraction*, Proc. Indian Acad. Sci.: Math. Sci., **93** (1984), 67–77.
21. S. Ramanujan, Notebooks, Vol. 2, Tata Institute of Fundamental Research, Bombay, 1957.
22. S. Ramanujan, The Lost Notebook and Other Unpublished Papers. Narosa, New Delhi, 1988.
23. S. N. Singh, *On q -hypergeometric function and continued fractions*, Math. Student, **56** (1988), 81–84.
24. D. D. Somashekara and S. N. Fathima, *On continued fraction expansions for the ratios of ${}_2\psi_2$* , Indian J. Math., **45**(3) (2003), 333–356.
25. D. D. Somashekara, S. L. Shalini, and K. Narasimha Murthy, *On some continued fraction expansions for the ratios of the function*, Note di Mat., **33**(2) (2014), 35–42.
26. K. R. Vasuki, *On some continued fractions related to ${}_2\psi_2$ basic bilateral hypergeometric series*, In Math. Forum, **12** (1998), 31–43.
27. K. R. Vasuki and H. S. Madhusudhan, *On certain continued fractions related to ${}_2\psi_2$ basic bilateral hypergeometric functions*, Indian J. Pure Appl. Math., **33**(10) (2002), 1563–1573.
28. A. Verma, R. Y. Denis, and K. S. Rao, *New continued fractions involving basic hypergeometric ${}_3\phi_2$ functions*, J. Math. Phys. Sci, **21**(6) (1987), 585–592.

¹ DEPARTMENT OF MATHEMATICS, M.S.RAMIAH COLLEGE OF ARTS, SCIENCE AND COMMERCE, MATHIKERE, BENGALURU-560054, INDIA

Email address: thulasi.mb@gmail.com